Gw av:link

HQS201

Compact Adjustable TV/Monitor Wall Mount Bracket
Item ref: 129.510UK
User Manual

Thank you for choosing the HQS201 bracket. This bracket is constructed from reinforced steel for mounting screen from 13" to 40” up to 15kg.
Designed to be easily installed and supplied with all required installation hardware.

Caution:

Please read this manual thoroughly to avoid damage to property or personnel. If unsure of any part of this manual please refer to professional installer
for help:
e This product contains small components that could pose a choking hazard if swallowed, please keep out of reach of children.
e This product is designed for mounting on wall studs or concrete wall. Always ensure the mounting surface will be capable of withstanding the
combined weight of the TV bracket and TV, reinforcement may be required for aged or weak walls.
e Safety gear such as gloves and safety goggles must be worn during the installation. A minimum of two people are required throughout the
installation, failure to do so may result in injury or damage.
e This product is design for indoor use only. The bracket must be inspected at least every two months for loose joints or aged parts.

Contents:
Please check all contents listed below are included inside the box. If anything is missing please return to the retailer or dealer.

M4 12mm x 4(A), M4 25mm x 4(B), M5 12mm x 8(C),
M5 25mm x 4(D), M6 16mm x 4, M8 16mm x 4

© %

Nut E’\

Secure Latch
—— VESA Extension
M5 Nut (K) )
AL
ol \%,f 4o
B
-

N
TV Bracket

Plastic Spacer x 4(E)

Washer x4 (F)

©

Wall Bolts x 2(G)

Washer x 2(H) Bolts

Wall Mounting Plug x 2(I)
M5 Nuts x 4(K)
Locking Scew x 1(L)

Allen Key x 3(M)

Wall Bracket Hex Spanner(N)

e

EAVE R NGRS

For this installation you will also require a pencil, tape measurer, electric drill, stud finder and a Philips (cross) screw driver.

Step 1 - Fixing wall bracket
For concrete wall installation first of all work out the height of the installation and ensure it is level using the spirit level. Use a pencil to mark where the

mounting holes will be and use an electric drill to drill a hole that is around 10.5mm in diameter and 50mm deep. Insert the wall plugs into the holes

and install the wall bracket as follows.
Concrete Wall

_ \
T >
o %ﬂﬁ‘i‘ _7__7__,__,.7-——--"":{_7__7__7__7_,__,.-—--"' Hex
Ld I(.\ — Wall Plug(I) Spanner
o / Washer(H) ﬂ -""_""«q\[\
] ) A
M } B ‘II‘ ‘ =T ‘ h
| Fﬁ‘t‘f‘j | |
\ | |
\ ‘ ' L—l| ‘ ‘ ]
2"(50mm) . L
- 7
s L __7_,__,--7-"' 4
— e Wall Mount Spirit Leveler
@©7/16"(10.5mm) | Screw(G)

avlink.avsl com — Y, — | group brand



G av:link

For plaster wall installation first of all find out where the wood stud is behind the wall using a stud finder. Then work out the height of the installation

and ensure it is level using the spirit level. Use a pencil to mark where the mounting holes will be and use an electric drill to drill a hole that is around
4.5mm in diameter and 50mm deep. Install the wall bracket as follows.

Wood Stud

J

Stud Finder

ol
2"(50mm) ;

L fs
T Wall Mount AN
®3/16"(4.5mm) Screw(G) Spirit leveler

Step 2 - Fixing TV bracket to the screen, please use plastic spacer if the back of the screen is uneven.

Washer(F)

Plastic Spacerﬂ//’:/,/_/?
/ Washer(F)

Screen Fixing
Screw (A, B, C,
D, M6, M8)

Screen Fixing
;- Screw (A, B, C,
D, M6, M8)

g Without Spacer \L’/

For VESA sizes bigger than 100x100, the supplied adaptors may be used. Attach the VESA extension arms as shown below using M5 12mm screws and
nuts supplied.

With Spacer

Step 3 - slide the TV with attached mount onto the wall bracket. Clip the secure latch on and screw down the locking screw using the supplied Allen

key. The tension of the pan can be adjusted with the Allen key as show below. Tuck all cables into the cable management hook at the bottom of the
bracket to finish the installation.

Locking Screw Pan Tension

Adjustment
O Allen Key S

Secure Latch 15°

Errors and omissions excepted.

Copyright© 2015. AVSL Group Ltd.
129.510UK User Manual



